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V'=5.0V
Ta=25 2 5 mV
Ta=25 INn IiNn - Vem=0V 45 150 nA
Ta=25 INnH-IN - Vem=0V 3 30 nA
Ta=25  V'=30V 0 Vils | v

Rr=00 V=30V 1 2

V=5V 0.5 1.2 mA
V=15V Ta=25  Ri>2kQ Vo=1~11V 50 100 V/mV
DC Ta=25  Vcm=0~V'-1.5V 70 85 dB
DC Ta=25  V'=5-30V 65 100 dB
Ta=25  f=1~20kHz -120 dB
ViNG=1V,VINO=0V,V =15V, Vo=2V,Ta=25 20 40 mA
VINO=1V,VIN#=0V,V =15V, Vo=2V,Ta=25 10 20 mA
VING=1V,VIN(H=0V,V =15V,Vo=200mV,Ta=25 12 50 HA
V=15V  Ta=25 40 60 mA
7 mV
Rs=0Q 7 uv/
INn# -IIN - - 100 nA
Rs=0Q 10 pA/
INn+  IiN - 40 300 nA
V=30V 0 V-2 \Y%
V=15V Vo=I~11V  RL>2kQ 25 V/mV
Vou V=30V Ri=2kO 26 v
RL=10kQ 27 28 A
VoL V'=5V  Rr=10kQ 5 20 mV
VINH=1V  VINo=0V V=15V  Vo=2V 10 20 mA
VINO=1IV  VINO=0V V=15V Vo=2V 5 8 mA
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